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Trigonometric Identities

Prerequisite Skills... Sn\elz ’l\'\m\c\\ DEE & e
Factor: / / Sc\
cos’ @+10cos & —24 \?_ X;az -\ sin’ @ — cos’ &

10 , .
( s0 -osd D) +2=10 (510 + cos XS -t )
< H"“"“.‘c\\ de%posrlmh

4. 2 _
imnx btan“x + 1 ;5_ Xizc\\

@m&@(&a&—%) 2426
&\M%X -ngnaxf% (f\“‘J ““L)

x-S 1)
/D.W & o

Simplify the following expression:  tan’ 9(6052 & — 1)

tan&cos& + tané ¢ gz{j&;




Day 66 - Identities Intro after.notebook January 12, 2016

Find a common denominator for each of the following:
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Trig Identities

Reciprocal Identities
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Quotient Identities
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Pythagorean Identities
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Trigonometric Identities

You must know these!
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Strategies for Proving Identities:

e Work on the most complex side and simplify so it has
the same form as the simpler side LHS =RNS

e Methods used in simplifying: direct substitution,
factoring, finding a common denominator, multiplying

By the conjugate
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Prove the following:
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Prove the following:

- sin @ = cos &
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Ex. Prove that sin y+sin ycot® y @
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Homework

1. tan&cosé =siné
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